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@sin(a + B) =sinacos S+ cosasin S
(2)sin(a — B) =sinacos f—cosasin S
(3)cos(a — ) = cosacos S +sinasin S
(4)cos(a + B) =cosa cos f—sinasin
_ tana+tan g
(G)tan(a+ /) = l-tanatan g

tana —tan S
l+tanatan g

(6)tan(a - p) =
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@ sin(e + p)sin(a — B) = sin® a —sin® f(= cos® S —cos’ a)
(2)cos(a + B)cos(a — f) = cos’ a —sin® B(= cos® B —sin’a)




F]F cos(a — B) = cosa cos B +sin a sin B FyEEEE
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cos(a + ) =cosa cos f—sinasin g

sin(a — f) =sina cos f—cosasin

sin(a + f) =sina cos B +cosasin S
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tano +tan B
1-tanatan g

tano —tan S
l+tanatan g

tan(a + f) =

tan(a—f) =




